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Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y<4x+3 2) y>-2
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ID: 2

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y>-x+2 2) y<3
y>-6x-3 y<-6x-3
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ID: 3

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y<3x-2 2) y<l1
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ID: 4

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y>-2x-3 2) y>4x+3
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ID: 5

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
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ID: 6

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y>3x-2 4
< —
y<—Xx+2 2)y_3x+2
A 1
5 <—x-1
4 y 3
s A
<~5 “4 3 2 -1 0 } > 5
:3 475 4 3 2 -1 0 ! >
Y =3
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3) y<x+1
y<4x-2
A
<75 “4 3 2 -1 0 >
Y
5 y>-x-3
y<x+1
A
<75 “4 3 2 10 >
Y

dagsgs . mabh-verksheeb.org

4) y>-3x-2

y<x+2
A
475 “4 B3 2 -0 >
Y
6) y>-2x+1
! 2
y>——X-
2
A
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2
7) y<—x-3
3
y< 2x 1
<——X+
3
A
(—5 4“4 B 0 40 >
Y
9) y<-5x+2
y<—-x-2
A
(—5 -4 3 2 4 0 >
Y

: 7 gegeus matih-wiorksheeh ory

1
8 >——Xx-1
)Y 3

y< 4x 2

<——X+

3
A

(—5 -4 3 2 4 0 >
Y

10) y>4x+1

y<x-—2

A
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11) y>——x+2
X=-2
A
{—5 -“4 3 2 -0 >
Y
4
13) y>—-—x+3
3
y 1X 2
>_ —_
3
A
<—5 -“4 3 2 -0 >
Y

. 47 gagstspabh-tserksheeb.sry

12) y<4x-1
y<Xx+2

475 “4 B 2 410 >
Y
2
14) y<—x-3
3
y>-X+2
A
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3
15) y£—5x+2

y>x-3
A
Tk L4 Bk DL o -
\
3
17) y<——x-1
2
y< 1x 1
<——X+
2
A
Sk 4 B3 b dio ”
\
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16) y>—-x-1

y>-5x+3
A
475 4 B3 2 40 >
Y
3
18) y<——x-1
2
y lx 3
<X+
2
A
4—5 “4 3 2 410 >
Y
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19) y>-—x-2

1
y<—X+2
3
A
{—5 “4 B3 2 10 >
\
21) y>4x-1
y<x+2
A
J P PR S P g

: 7 gegeus matih-wiorksheeh ory

1
20) y>—x-3
3
y<—x+1
A
{—5 “4 3 2 -0 >
Y
22) x>-3
y>lx 2
> —X +
3
A
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23) y>x-2 24) y>6x+3

y<4x+1 y<x-2
A A
D) 4 i I P S P 4 g
Y Y
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ID: 7

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y<—4x+3
>y
y>2%—3 2) yz-ox=2
A 1 5
5 <——X+
4 y 2
s A
<~5 -“4 3 2 -0 } > 5
:3 475 4 3 2 -1 0 ! >
Y =3
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3) y<—-x+3
y<5x-3
A
<75 “4 B D2 qo >
Y
5
5 y>—-——x-2
3
y 1x 2
>——X+
3
A
4—5 “4 B L2 40 >
Y
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4) y<4x+3

y2>2-2x-3
A
475 4 B 2 -0 >
Y
4
6) y>——x-2
3
y lx 3
>—X+
3
A
4—5 “4 B3 L2 40 >
Y
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7) y<4x+3 5) >3x 1
y>-X-2 y_z
A 1
5 y>2—x+1
. 2
3 A
<75 “4 B3 2 40 4 > 2
3 (—5 -4 3 2 410 4 >
Y =3
Y
9) y>x-1 10) y>3x-2
y>5x+3 y>-X+2
A A
4—5 “4 3 2 -0 4 > 4—5 “4 3 2 -0 4 >
Y Y
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11) y<—x+2
y>2x-1
A
<75 “4 B3 D2 do0 >
Y
13) y<-3
y 4x 1
>——X+
3
A
<75 “4 B3 D2 do0 >
Y
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12) y>—-4x-1
y<—x+2

4—5 -4 3 2 4 0 >
Y
5
14) y<—x+3
2
y 1x 3
>_— f—
2
A
4—5 “4 B3 2 10 >
Y
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15) y<2x+3 16) y<—x+1

1 1
y>——x-2 y<-x-2
2 2
A A
{—5 4 B 2 40 } > {—5 4 B 2 410 1 >
Y Y
10 y>2x-1 18) y<—ix+1
1 3
y>5x+2 |
>——X-2
A y 3
j A
4—5 4 B L o | > t
_n S 5 b o 4 i
Y N
Y
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19) y>x+2 20) y>3x—1

2 y<—-X+3
y>-—Xx-3
3 A
A
1 < 5 4 3 2 41 0 4 >
< 5 4 B3 2 -0 4 > :
- Y
Y
1 22) y>-4x-2
21) y>—x-2
)y 3 y>X+3
) A
y2—-—Xx+1 5
3 4
A 3
5 < 5 4 3 2 41 0 4 >
T B L o I 3
3 Y
Y
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23) y<5x-2 24) y<—-x+1

y<3 1
y<—x-3
A 3
J
) A
4
o)
3 4
4
’ 3
t oY
< >
45 4 B 2 -0 )] i
,1 ) _
o~ V.l
5 &5 4 3 2 410 4
) =t
_3 .
_4 .
=3
s ,
\
=J
Y
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Answers to Assignment (ID: 7)
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ID: 8

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y<-2x-3 2) y>-2x-3
>X+3 1
y y>—X+2
A 2
) A
<~5 -“4 3 2 -0 } > t
:I < 45 4 B3 L2 40 4 >
v -
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1
3 >—X-2
)y 3

y=2x+3
A
{—5 “4 3 2 -0 >
Y
1
5 y<—x-2
3
y 4x 1
<X+
3
A
<75 “4 B3 2 10 >
Y

7 gegeus matih-wiorksheeh ory

1
4 >——X-1
)Y 5
<lx 3
y 2
A
(—5 4 B 2 1o >
Y
6) y>2x+3
1
>—X-2
y 3
A
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7) y>—-4x-1 2
8) y>2——x+1
y<3 3
A y zx ;
J <— —
. 3
3 A
<75 “4 B3 2 40 4 > 2
-3 (—5 -“4 3 2 -0 4 >
Y 3
\/
5 1
9) y>—x-2 10) y<——x+2
3 2
X<3 y>-3x-3
A A
#—5 “4 3 2 -0 4 > {—5 “4 3 2 -0 4 >
Y Y
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11) y>-2x+1 12) y>22x-3

y>x-2 y<-2x+1
A A
<75 4 B 2 40 4 > 475 4 B 2 40 4 >
Y Y
1 14) y<-=2
13) y>2-——x+1
)y o) y<5x+3
1 A
y>—Xx+3 5
2 4
A 3
5 S 4B b dio 4 i
4—5 “4 B3 2 0 4 > 3
=3 \/
Y
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15) y>2x-3

y<-x+3
A
35 4 B D2 o s
Y
3
17) y<—x-2
2
y>1
A
J
3
=5 4 B L dio b5
=3
=5
Y
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4
16) y>—§x—2
y<2
A
{—5 “4 3 2 -1 0 >
¥
5
18) ys§x+3
>lx 1
Y 3
A
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19) y<-x-2 4
) y=—x 20) y>§x+1

y=>-6Xx+3
A y lx )
) <— -
.y 3
; A
5 5 % o T 5 5
3 “5 L 5 5 dio T 5
Y -
Y
21) y<1
22 <——X-3
. )y
y<——x-2
2 X<-3
A A
Sk B b dio 4 i S 5 b o 4 i
Y Y
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4
23) yZEX—l

1
y>—X+2
3
A
J
4
3
I
DRI 1
-1
4
=5
Y
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1
24) y<—x-2
2
y<5X 2
<X+
2
A
(_5 4 B Db Ao g
Y
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ID: 9

Period

Name
Assignment Date
Sketch the solution to each system of inequalities.
1 2X—2 4
) y< 1 2) y>—X+2
y > _EX +3 3
>y —
A y=7x-1
) A
(—5 “4 B3 2 10 4 > T

A

82 geges muth-werksheeb orsy
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3) y>2—x-3 4) y<5x-3

y>2X+3 y>Xx+1
A A
<75 4 B 2 40 4 > 475 4 B 2 40 4 >
Y Y
4 6) y>x+2
5 y>—x+2
3 y>-3x-2
1 3 A
y>——X-— 5
3 4
A 3
5 S 4B b dio 4 i
4—5 4 B 2 40 4 > 3
=3 \/
Y
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7) y>2—x+1 8) y<lx+2
1 3 )
y>—X—
3 y<2x-1
A A
{—5 “4 3 2 -0 4 > {—5 “4 3 2 -0 >
Y Y
9) y<—x-3 10) y>-2x-1
y<4x+2 y>-3
A A
<75 “4 B3 2 -0 4 > 475 “4 B3 2 -0 >
Y Y
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1
11) y<——x-2
2
y<-2x+1
A
{—5 -“4 3 2 -0 >
Y
13) y<-—x-3
y>3x+1
A
475 4 B 2 -0 >
Y

. 47 gagstspabh-tserksheeb.sry

12) y<-3x-2
y<2x+3

475 “4 B 2 410 >
Y
14) y<—x+2
y=-6x-3
A
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15) y> -1

<4 3
y<—X+
3

A

{—5 “4 3 2 10 >
w

17) y<-5x-3

y=>—-x+1

A

<—5 “4 3 2 10 >

7 gegeus matih-wiorksheeh ory

2
16) ys-§x+1

y 2x 3
<_ —
3
A
(—5 “4 3 2 41 0 >
Y
1
18) y>——x+2
2
5
y>——Xx-2
2
A

math-worksheet.org



5
19) y>-——x-3
2
y = 1x 1
>——X+
2
A
(—5 “4 B3 2 10 4 >
Y
21) y> -2
y<x-3
A
4—5 “4 B L2 40 4 >
Y
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20) y<1
y<x+3

475 “4 B 02 qo >
Y
1
22) y<——x-1
2
y<-2x+2
A
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4
23) y<——x+2
3
y< 1X 1
-3
A
(-5 -“4 3 2 40 1 g
Y
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4
24) yz7x-3

> gX+3
y>=3

A

~
=3

4
=4

=J

Y
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1D: 10

Name
Assignment Date Period
Sketch the solution to each system of inequalities.
1) y<x+1 2) y>-Xx+3
y=5x-3 y>3x—1
A A
<—5 “4 3 2 10 4 > <—5 “4 3 2 410 4 >
Y ¥
3) y<-2x-3 4) y<5x+2
2 y<x-2
y>-——x+1
3 A
A
T <—5 “4 3 2 4 0 4 >
{4—44—240 4 > j
- Y
Y
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5 6) y>-2x+1
9) y>——X+2
)Y 5 y<2x-3
1 A
y > __X - 2 5
2 4
A 3
5 < S 4 3 2 410 4 >
< -5 4 3 2 410 4 > =3
5 Y
Y
5 8) y>5x+3
7)) y=2——x-2 )Y
3 y<x-1
1 A
y>—-——X+2 5
3 |
A 3
5 < S 4 3 2 410 4 >
< 5 4 B3 2 40 4 > =3
- Y
\/
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4 10 <—x-2
9) y>2—x-2 )
3 y<4x+3
| A
y>—x+1 )
3 4
A 3
N 475 4 3 2 410 >
(—5 4 B 2 o 4 > -
3 Y
A
11) yZ—5X+2 3
y<—x+1
y<x-—1 2
A A
4—5 -4 3 2 4 0 4 > 4—5 -4 3 2 4 0 >
v Y
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1
13) y<—x-1
3
y 5x 3
>—X+
3
A
(—5 “4 B3 2 10 >
Y
2
15) y<—x-1
3
y<2x+3
A
<75 “4 B 2 fo >
Y
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5
14) y<=x—3
)y 5

1
>—X+1
y 2

(—5 4 B 2 4o >
\/
16) y<—x-2
y<-—x+1
3
A

-
=D

4
=%

=J
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>4 3
yz2_-X-—
3
A
<5 5 % o >
Y
19) y<3
y<2x+1
A
3 B L dio g
Y
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1
18) y<——x-2
3
> ix+1
y= 3
A
(—5 “4 B3 02 q o >
Y
20) y>6x-3
y>Xx+2
A
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21 >—X-2
)y2

3
yz——X+2
2
A
~5 5 5 5 dio >
Y
2
23) y>—-—x-3
3
2 1
y <X+
3
A
J P PR S P g
Y
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22) y25x+2

y<-x-3
A
{—5 “4 3 2 -1 0 >
Y
1
24) y<—x+3
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3
y<—-—x-1
2
A
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